Al & Ol & AP &

g Al A

SN MK
o200 Melag
2o 210 AAE KIS
5 : 211 AarICeg (crel: &g
SN-F-B-g-2 o & o rSJEL=L IR CmE=
ES Al 7,553,432 15,314,576 ANT,761,144
M= X2 Dt 7,953,432 15,314,576 AT,761,144
200 M2l==¢ 1,860,000 3,380,000 21,520,000
210 ZAEH 2% 1,860,000 3,30,000(  A1,520,000
211 THAH O ==& 60,000 80,000 220,000
211-02 SRMAUUZ 60,000 80,000 220,000
ORZHSAIL AR 60,000
212 AliEE2 Y 1,800,000 3,300,000 21,500,000
212-09 JIEFAE R 1,800,000 3,300,000(  A1,500,000
OZZHSAIL ABE 1,800,000
500 2E2 5,693,432 3,764,576 1,928,856
510 2 UEX3S 854,393 3,656,712 A2,802,319
511 FNBEXZS 854,393 3,656,712 22,802,319
511-03 713 854,393 1,335,712 A481,319
OAZ=2ZA0I2d K& 518,000
OB MHHSXSK BHX 163,907
OFOe! MEHSTE X 50,082
Ool24l MEHSTET HX 89,404
OFMIAZ=2AR0|EAH KR 23,800
520 Al - SHIBXZS 4,839,039 107,864 4,731,175
521 Al - CHIE RIS 4,899,039 107,864 4,731,175
521-01 Al - EHIEXZS 4,839,039 107,864 4,731,175
OAE=2ZHM0ISH K& 66,600
OMEHSDY 2 8,694
OMEBUSZZIY 2 5,715
Omlel WSSO0t X 10, 149
OBMAATZLH0IZ X2 3,060
OFOHR! MEH SIS HX 14,821
OZds M2 ZEME 2,950,000
OUsH B11BIIF NES LAY 570,000
OMINFZIIF AES HAZA %,000
O/ QYR AILHEBA 300,000
ONABESEE AES HHZA 300,000
OUEY 2MHTAILE FEAL 520,000




H & 0l & AHS B Ml A

A RS =N L s
M MBS S4
chel: MEls 2435 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
H=X21 26,912,966 27,513,387 600,421
Jl 854,393
== 4,839,039
Al 21,219,534
HEH= =4 17,455,190 17,517,984 A62,794
Il 854,393
< 4,839,039
Al 11,761,758
dEH=E 243t 2,739,804 2,277,648 462,156
Il 854,393
== 109,039
Al 1,776,372
ARx 23 018d XNE 740,000 494,080 245,920
7l 518,000
= 66,600
Al 155,400
301 EetE NS 740,000 494,080 245,920
Il 518,000
= 66,600
Al 185,400
01 Al E2E A S (2 REXMR) 740,000 494,080 245,920
OAZ=ZH0IZBH A& 740,000
) 518,000
= 66,600
Al 185,400
NS 28 28,980 28,980 0
= 8,694
Al 20,286
307 @120l & 28,980 28,980 0
== 8,694
Al 20,286
02 LB HAHEE 28,980 28,980 0
OdeH=sua 24 28,980
< 8,694
Al 20,286
dEHNSZZOY =2¢ 19,050 19,050 0
= 5,715
Al 13,335
307 gl2to| & 19,050 19,050 0
=S 5,715
Al 13,335
02 QB AANEE R 19,050 19,050 0
OdgN=sZzd 24 19,050




2A:

PN

M MBS S4
chel: MEls 2435 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-0l s A (=S340(5t) 4,800
= 1,440
Al 3,360
-~ HAEHENA(S - DSEY) 4,800
=S 1,440
Al 3,360
- Y= MSHE 5,000
< 1,500
Al 3,500
-EdEMsUs 2,500
= 750
Al 1,750
-S8Ue F2EMEUH 1,950
== 585
Al 1,365
AP MEHSKEA HHXI(OIZEX) 327,814 321,552 6,262
Il 163,907
Al 163,907
307 elzto| & 327,814 321,552 6.262
Jl 163,907
Al 163,907
02 2IZHBYAIHE A 327,814 321,552 6,262
Ooggt dEMSA=N JI2s 326,054
— et MERFATA 2121]
2,470,100« 11E« 122 326,054
7l 163,027
Al 163,027
OUEHMSAT ey SH=S
160,000& * 11 1,760
) 880
Al 880
HEH MEHSIIEX BIXI(JISEX) 178,808 175,392 3,416
Jl 89,404
Al 89,404
307 212+01& 178,808 175,392 3,416
Jl 89,404
Al 89,404
02 2IZHB A E & 178,808 175,392 3,416
oozd A=A Jl=3 177,848
—0Ed EHFAEA 1A
2,470,1002 6~ 122 177,848
Il 88,924
Al 88,924




2A:

PN

M MBS S4
chel: MEls 2435 (SH9 H2)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
O E4 MEXSXSA HiaH ZHS
160,0002+6Z 960
| 480
Al 480
;&%_H%NEN(%E, HZ24l) BiIXl S EEZ(KHAMITHA 211,343 154,483 56,855
307 2Iz2+0l™ 211,343 154,488 56,855
02 QIR AAIEE X 211,343 154,483 56,855
O =sXERN esXJ 211,343
MEHSOE &I L =X 302,460 391,200 A88,740
202 Ot 2,160 2,400 A240
01 =LHOBI 2,160 2,400 2240
OMERSE A2EZ0IY|
540,000 x4H 2,160
307 gI2Hol ™ 300,300 388,800 288,500
02 QItBAAIHE R 28,300 144,800 A116,500
O&=E 3¢ ¥ 832035 ot K& 24,800
O3 ¥ &= AHoIE=2UE &I N& 3,500
04 CIZISHAIAIRIE & 272,000 244,000 28,000
OAZEI E=8 MU izl K3 79,000
— K232l AIEI| S50U3 20,000
— K202l AIEDI| OrOH3l 10,000
—HI253] AI&ED| BHELIE T3S 10,000
—HI5gl AIED| IER=Z03 4,000
—Hl423] AIED| HILIACHS 4,000
—HI78l AIED| E20E 10,000
— K162 AIEHH I+t 5,000
—HI2E| AIEI| HOIESUHS 3,000
— X2l AlZEH SAtHE 3,000
— X2l AIZEH BH=2CH= 5,000
— H262] A&l B =CH2l 5,000
OE3ld)| =52 M=l HE XA 136,000
C8.15&=22018 =5=dlZ 20103 40,000
OW MIAH 2t & JISeHAt 8,000
ORIZE MSEAL AtY X 9,000
2. 8344 £32(1-210) 2¢ 24,300 27,000 A2,700
307 gIzHol 24,300 27,000 A2,700
04 QIZHHAIAIE E X 24,300 27,000 A2,700
02023 R .HAE 53( | -2l1) =24 24,300
Ol MEMESXEA BHXI(DIZ2EX) 118,565 116,928 1,637
| 59,282
& 14,821
Al 44,462




2A:

PN

M MBS S4
el Metis 243 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 118,565 116,928 1,637
Jl 59,282
== 14,821
Al 44,462
02 LB HANHEE 118,565 116,928 1,637
OHel dEHMSNEN JI2s
2,470,100 ~4E 12 118,565
Il 59,282
== 14,821
Al 44,462
ZOHQ! MEHSXI A BiX 2SE (XM ) 48,259 39,103 9,1%
307 lztol & 48,259 39,103 9,1%
02 2IZHB A E & 48,259 39,103 9,1%
OY M YHEHNFA A 2SKH 48,259
el MEgs A2 464,140 294,990 169,150
307 el2to| & 464,140 294,990 169,150
02 2IZHBYAIHE A 128,680 59,000 69,680
Os0teIEs| thal IR 10,800
-BEs0I =83l 2,700
-Zgs0lH=U= 6,300
—-S0otrefoIE=SU 3 1,800
OXNAMEFOHI S tHal B 6,580
—AE=HEH O 0EW2 1,000
—HEAIZH EXMOoi0tetEHa 1,080
- I XN HEOHS! M=FCHE 1,350
-~ Y=DIME HEEUR 1,350
—UHetel= HOHeIoH AL =L 3 1,800
OZgAIZEM M=l BIHXE 3,600
OJtYEH Ul ZIHX#H 27,000
ON26al 5 S =U2 ZIHAA 51,000
ON432l d= HOMSUal HILKE 11,000
ORMI72l &= HoHstdM=U2 IS 5,000
OZ iR AIAHCHE! FOHXI& 2,700
O&=ME & StlHME L&A La=s X2 6,000
OHMAHE LS WA AL 5,000
03 PIZHHNEE 22X 180, 160 141,990 38,170
OZHAIZHAHES AHR= Q1248 (3Y) 132,300
—-Jlgs & M=¥ 108,922
-g3Fes ¥ EANEs 23,378
OZHAIZMLIM Sl AR= 28| 45,160
OZoAIZ T2l AIR= 23 Sel=d
]l 2,700
04 QIZHHAMAIH 2 £ 185,300 94,000 61,300




2A:

PN

M MBS S4
el Metis 243 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ot el JH= 67,500
ORMI02! ZaHAl ZoHIM=U=] W= 55,800
OHl42l ZalAl ZoHIESE2IIU=l HA 22,000
02023 2o AIZ0HQIHIT Alatal R Sl
o & 7,000
OZHAl ZoHIM=U=l W=l & &It =0t
A& 3,000
Fone! Mssorel Xa 54,000 31,099 22,901
= 10,149
Al 43,851
307 @12t0| & 54,000 31,099 22,901
== 10,149
Al 43,851
02 LB HAHE L 54,000 31,09 22,901
OFelIMssotel X (EHIEX) 54,000
< 10,149
Al 43,851
ZoHe! AX=2A0lE2 XIS 34,000 25,600 8,400
) 23,800
< 3,060
Al 7,140
301 EtE NS 34,000 25,600 8,400
Il 23,800
== 3,060
Al 7,140
01 Al 2E A S(SREXME) 34,000 25,600 8,400
OHMHAAZ=LHO0ISH X 34,000
Jl 23,800
=S 3,060
Al 7,140
SSAEXSEH 2F K& 188,085 158,186 29,899
307 212+01& 188,085 143,186 44,899
03 M EE2SHIEX 188,085 143,186 44,899
OUZAIE(BEE) A2 A 98,291
OUZAIE(ZEE)AZXZY SIHSAIL
OlSA AN 2N 25,615
OJOF2=Zol AR X2E It ATR
& 2gdl X 34,299
Ot & (8558 )ALE2Y IHE Y 20,000
OStWANE (HESH)ALXZY delEM
= £8 ¥ dAEddl N2 9,880
HEAE &8 & A2 14,715,386 16,240,336 N\524,950
= 4,730,000
Al 9,985,386




2A:

PN

Hu: MBS SA
o9l HSAM 2B Y SN2 (e &8l
SA - ZE . BR() - HRAR - BES of v G o HIDE2
H=AlE RAE= 955,200 1,686,933 AT731,733
201 er23 | 213,960 221,420 AT,460
01 At2teltl 23,700 33,700 10,000
OAgotM AN H (X, e, &
gHs2) 120,000 «3H ~+ 123 4,320
OZ3HMSAIL(6HL) dItH A HA S
B 140,000 x6IH =% 123 10,080
Ol Had
70,000& %1574 2-%62] 6,300
OMSEAIE S g & SILAs
600,000 *53] 3,000
02 S3=gHl 170,760 187,720 16,960
OFaE SN (SN SEE SHEA
) 660,000 x2J4 2% 123 15,840
OMEsd € HME2 S JIIMER
450, 0003 «21 4 A x 12 113,400
ONMFAIE ot AIEZ
60,0003 1674 2=+ 123 11,520
OH=AIE A72 =44 30,000
03 A2 I 19,500 0 19,500
O&GAZ=ME JH2tEH| 19,500
—JHZA A R 2 15,000
-Z3Y, 8% S EF=S M
4,500,000& *12] 4,500
202 04| 3,240 3,600 A360
01 =LHOHI 3,240 3,600 A360
OMSAIEE LRF&0i]
540,000 x6H 3,240
207 ARl 35,000 50,000 A15,000
01 H1E4H] 35,000 50,000 15,000
OMSAIE 2298 L 89
5,000,000 *37H 2 15,000
OZXSHE2 2AcI?/E AL S
20,000,000 *1IH 2 20,000
401 A2 HIRL R 0HbI 703,000 1,237,000 534,000
01 Al&H| 700,000 1,234,000 /534,000
OZB3HEAE RS 360,000
ONSAERME FUAIE SUIAI 300,000
OJIOHIOIEZEE AIEIHE AL 40,000
03 AIESTHYI 3,000 3,000 0
ONMEAIE X2 AIZ22UH| 3,000
XS M ZE(HSAY) 4,950,000 2,450,000 2,500,000
< 2,950,000
Al 2,000,000
401 AlEHIZL SO 4,950,000 2,450,000 2,500,000




2A:

PN

Hu: MBS SA
ool FSAL 25 2 SEs (crol: @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,950,000
Al 2,000,000
01 Al&H| 4,950,000 2,450,000 2,500,000
OZXESAH 14 4,950,000
= 2,950,000
Al 2,000,000
HEd SHUMAIE T8 (HEAY) 2,020,000 310,000 1,710,000
=S 520,000
Al 1,500,000
401 Al HIZ R 0HbI 2,020,000 310,000 1,710,000
< 520,000
Al 1,500,000
01 Al&H| 2,020,000 310,000 1,710,000
OZXESAH 14 2,020,000
= 520,000
Al 1,500,000
ol SI2I1ZIIE AIEES HEAS (R EAI) 1,900,000 0 1,900,000
= 570,000
Al 1,330,000
401 Al HIZ S 0HbI 1,900,000 0 1,900,000
s 570,000
Al 1,330,000
01 Al&HI 1,900,000 0 1,900,000
OAlE = JHA 14 1,900,000
[ 570,000
Al 1,330,000
Zoll2tHS2 A2 HESAM 210,000 0 210,000
401 AlEHIZ S0 210,000 210,000
01 Al&H| 210,000 210,000
OAIEZ JHH 14 210,000
2oliPH+ZIIE A2 HEZAHEEALY) 300,000 0 300,000
=S 90,000
Al 210,000
401 Al HIZL R 0HbI 300,000 0 300,000
< 90,000
Al 210,000
01 Al&HI 300,000 0 300,000
OAIEZ HA 14 300,000
= 90,000
Al 210,000
AHQIBLHAIE AL BAHHEALY) 1,000,000 0 1,000,000
= 300,000
Al 700,000




2A:

PN

Hu: MBS SA
o9l HSAL =25 2 224 (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 AlZHIZL SO 1,000,000 0 1,000,000
= 300,000
Al 700,000
01 Al&H| 1,000,000 0 1,000,000
OAIEZ JHA 14 1,000,000
= 300,000
Al 700,000
LASE2SE ANES HESAHEEAIY) 300,000 0 300,000
< 300,000
401 Al HIX S0 300,000 0 300,000
= 300,000
01 Al&HI 300,000 0 300,000
OAIE= A 14 300,000
= 300,000
gs4s Usy2E =4 905,000 905,000
401 A2 HIRL 201 905,000 905,000
01 Al&H| 905,000 905,000
ott=871d =4 14 905,000
SEotils3d &4 400,000 0 400,000
401 AIZHIZ SO 400,000 400,000
01 Al&H| 400,000 400,000
OJlE & AIEA 14 400,000
STHSAIE HES(013) 1,700,000 1,650,000 50,000
401 Al HIZ S OHbI 1,700,000 1,650,000 50,000
01 A28l 1,700,000 1,650,000 50,000
o2& ZBAE HESAH 14 660,000
ZoHAl SEIZIIE =R AIEHE ALY (AEH
Eg 5) 140,000
OZdHaUMSE2 AL HES(SEAE
s) 900,000
CEsY 29 75,186 82,403 AT, 217
201 fet= 3| 13,255 14,230 A975
01 AtR2tc|HI 9,415 10,390 A975
O8E2= HH 4,5002*1,000K 4,500
O8l+=2 M= 49,5003 *50H 2,475
OAMRES Y 1,800
OLEE 4| 128,000 *5CH 640
02 S3=gHl 3,840 3,840 0
OLEgsY 42 4|
3,000,000 * 10 2 3,000
O&JI, JIEt Blt= 70,000 * 122 840
307 lztol & 57,831 65,473 AT,642
05 2IMRIE =3 57,831 65,473 NT,642




S MSKIRD
Hu: MBS S
stz

ool FSAL 25 2 SEs (crol: @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSE0isE 2% It
57,831,000& 1= 57,831
405 KHoHFSHI 4,100 2,700 1,400
01 ML ESFSHI 4,100 2,700 1,400
OtE #¥ 4,100
E=INE=1 210,000& = 10CH 2,100
-SsiE 2,000,000 *1CH 2,000
M=ot S4 582,800 650,000 267,200
AHX0OE 2t 582,800 650,000 A67,200
Coel 2 IR U3 SR(CKMIHE) 579,200 646,000 66,800
202 04| 2,700 3,000 A300
01 2LHA b 2,700 3,000 A300
OAZ=[0PIEE LRFA0] 2,700
203 g4l 9,000 10,000 A1,000
03 A=A =] 9,000 10,000 21,000
OMSAL AKX 2 R=8H| 9,000
307 elztol & 567,500 633,000 65,500
04 CIZHHAMAMH 2 & 567,500 633,000 65,500
02023 &oll =2 OtetEU 72,000
02023 Zoll OtS=clZ OetEWS 60,000
02023 o S0171 E=clE OoFU= 18,000
ONl62l ZaHAILOIEIOIZHEI & H=0IE
olti=l 18,000
ONI32l ZaHAIEEH H=art &I 2] 36,000
020238 Zoll Jtor il d=R7AEH S0
2l 18,000
ON142| HoAISH Sedxd d= S0
2 22,500
ORMI7=2] ZaHAIEE 8= HI=UHal 33,000
OHMI12al ZaAIEE d= S50 HILIANS 10,000
020238 d= MEEDZ =22 100,000
O&= =2¢ d+=2U3 50,000
o023 &= =42 130,000
HAEd |RIIS AZ=0E 29 3,600 4,000 2400
201 er23| 3,600 4,000 2400
01 AtR2t2|HI 3,600 4,000 A400
OXX=d(LE2AE=E) EE22 MH 3,600
dEHE |54 8,380,3% 8,741,243 360,887
de|EXN= gdat 8,380,35% 8,741,243 360,887
s 24 2,805,694 2,725,693 80,001
201 er23| 218,950 122,750 96,200
01 At2teltl 77,950 68,750 9,200
Od=s==4 22l 460,000 «5xH* 12& 27,600

_9_




2A:

PN

3 d2H=E 4
Eel: de|EME 243t EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OF-t 24| 50,0002 *5x =123 3,000
O&8&Jl 222 & S 18,000
OH =Xt StolAIE &
100,000& *122] +2CH 2,400
OZgrC Z2n=% g 10,000
O8ZJ| g2t 3l
330,000 %152 4,950
O=7S3AL YR2
1,000,000& 122! 12,000
® 2=2H| 141,000 54,000 87,000
Ol424 EADIARS
140,000 571+ 122 8,400
0244 2R3 40,0002+ 1224 4,800
Od4xH2 K]
(1,000,0002 123 )+(500,0002 «12& ) 18,000
Odde==a =87 | 3,000
Od=itg 28z 1,000,000 «2CH 2,000
Odaza QB LTV 442
80,000 +5xH* 12 4,800
Ocl ¥ald & ¢€8D|= 100,000
202 04| 1,260 1,400 A140
01 =LHOLI 1,260 1,400 A140
OUsIE® A&T2 ol
126,000& *102] 1,260
301 EtE NS 2,585,484 2,582,443 3.041
11 dAMEEIXIE S 24,000 28,950 A4,950
O3] dANHRA AHI2 4| 23,000
—OolZElY ¢ 300,000& *152] 4,500
—&U OfLI=2A 200,000& %152 3,000
W B¢ 3,500
—JISJ (501, T
70,0003 x2& %153 2,100
—-220l 25,0002 x102 =152 3,750
— A2 3l 50,0003 x4 %153 3,000
- AIE 2gHI 7,000 *30& * 152 3,180
ONEHA &3l X2 250,000& 42 1,000
2=t - 2SFSEHS 2,561,484 2,553,493 7,991
@)uFal:] 1,504,713
—-J2s 1,472,500
-tE=g 9,600
- BHS Xt 40,0002 x10E~12& 4,800
SIS 20,0003 «20H* 123 4,800
-3RA 222
21,782 20A1 2113 * 1Y 4,793

_10_




A MK
M HEHE |84

&el: HLIEMS 2435 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—3ex Al 140, 00021+ 12412 1,680
-2en Neay
145,000 x1&* 122 1,740
- d=ESH| 1,200,000~ 128 14,400
OL=¥=3 229,447
-t dol2E= 15,000
-4 282 1,949,512,000& 11% 214,447
O&lx= 120,000
O=&tl 328,860
-g=&d| 650,000 «35H « 122 273,000
aESONE=T=1a]] 84,0002 x352 19 55,860
OsdEs 7l 47,600
- =75t 300,000 x34H+3& ¢ 30,600
-F7E, MIIES SHES 5,000
-Mg % dHISS 1,000,000& «12& 12,000
oul=Hl 48,440
-RLS3 66,0002 «30 4L 25 = 15,840
-5 900,000 x34E 12 30,600
— MIEHl 200,000& *102] 2,000
Olgl =&Yl 51,744
—-cl, FAZ S 84,0003 x22H x28 51,744
OR=6=X2 222,800
-Haldatt Zas(sclsd)
18,000,000& 103 7| 180,000
-8 2R 30,000
—2aH4 T
200,000 «2H 122 4,800
-cld2s Xd=s 8,000
OFASAI 2,500,000& *22 5,000
ORHAHZ EZOIY
72,0003 x4 * 10 2,880
ol 29 1,720,668 1,647,526 73,142
201 ger=3| 20,700 8,400 12,300
01 AtR2te|H] 5,700 4,800 900
O=2 29| 1,800
O=a da423 7¢ 2,700
Od =Xt SOl AIE SH 1,200
2 s5=34l 15,000 3,600 11,400
Odde=4 HY & Vdlg S 3,600
Od==xtg 7AXbl 8,400
Ocl &3l 3,000
202 04l 1,350 1,500 A150
01 SLHoIH 1,350 1,500 A150

_11_




2A:

PN

M M2HE |4
chel: deIEXMS 2835 (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
Olz=d E32% o] 1,350
301 LeEN= 1,693,618 1,626,626 66,992
2=t - 2SRS2H= 1,693,618 1,626,626 66,992
Ol 1,006,800
-Jl== 990,000
-tE=g 9,600
B <= Xt 40,0002 x10E 12 4,800
S 20,0002 +*20F « 122 4,800
- &=l 7,200
(OF=1=X= 135,374
—d==t dollEE= 11,250
-4y 28R 124,124
OLIE=) 50,000
Og&| 256,464
—g==a| 710,000 x26E «12& 221,520
—dXE&| 84,0003 »26H ~ 162 34,944
Ozess+g4l 50,000
O1l=Hl 28,200
Olzl&sd 43,680
—-Ha=d& 84,0003 26202 43,680
OR==6==X1& 119,200
—Ualgalt 2ats 70,000
-2 78| 30,000
-8 XIJH|
200,000 x2H 123 4,800
- =2 X2
200,000 «6H « 122 14,400
OZd SAldl 1,500,000 22 3,000
ODEFAHE ZF0I 150,000& *62] 900
405 KHAHF SH 5,000 11,000 6,000
01 TRHESF SHI 5,000 11,000 26,000
Oo9=z7 7¢ 5,000
AcH 29 615,990 475,010 140,980
201 L2 28,760 38,980 210,220
01 AtR22telbl 20,500 32,280 A11,780
Old==4 23| 10,620
-2 gu= 450,000« 17~ 122 5,400
—g 22l 300,000& 1712 3,600
—=A MBADE Do
135,000& x 128 1,620
O& =Xt SHOIMAIE A
50,000& * 128 600
O=8d AEZ 690,000 122 8,280

_12_




2A:

PN

3 d2H=E 4
chel: deIEXMS 2835 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJIEt==ZHI 1,000
2 s5=34l 8,260 6,700 1,560
Od=d ZADIA 23
100,000& * 12 1,200
Ol+SA &I L VAAE S
30,0002 12 360
Od==xtek FXIbl 350,000& 122 4,200
O W2l 2,500
202 048l 1,000 1,000
01 2L AH| 1,000 1,000
OUIEd AES2E 0
100,000 x2& +53] 1,000
301 2eEN= 436,230 435,030 1,200
Rzt - 2SFS2Eds 436,230 435,030 1,200
Oel2H| 240,000
-Jl=s 237,600
- I =S| 200,000& * 128 2,400
OL=4=1= 36,110
-t doiE2E = 3,000
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